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1 HODO analysis
1.1 QDC pedestal (run198)

ALraw=ALraw-ped [ch]
ARraw=ARraw-ped [ch]
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0 1: QDC pedestal(down)
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0 2: QDC pedestal(up)




1.2 TDC Tecal (runl199)

TLcal [ns] = TLraw [ch] * ch2ns
TRcal [ns] = TRraw [ch] * ch2ns



1.3 TOF offset(240+empty beam)

I calcurated flight length from target to HODO by ’tracedisp’ code.
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0 3: momentum vs FL(tgt-HODO)

I used 240+empty run and calibrated TOF (tgt-HODO). I used gate
0 beam@F2 : 240 beam gate
O target size @ NDC : ¢ 40 mm
O F1slit : £ 2.4 mm

I got TOF(F2-tgt) from LISE calculation.
TOF(F2 — tgt) = 6.5486 * F1Brho® — 66.221 % F1Brho + 210. (1)
And, T got TOF (tgt-HODO). !

TOF(tgt — HODO) = TOF(F2 — HODO) — TOF(F2 — tgt) — TOFoffset + 33.07ns  (2)
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1.4 TOF offset(230+empty beam)

I used 230+empty run and calibrated TOF (tgt-HODO). I used gate
0 beam@F2 : 230 beam gate
O target size @ NDC : ¢ 40 mm
OF1slit : £ 2.4 mm

I got TOF(F2-tgt) from LISE calculation.
TOF(F2 — tgt) = 6.8391 % F1Brho? — 67.197 % F1Brho + 207.21 (3)
And, T got TOF(tgt-HODO). 2

TOF(tgt — HODO) = TOF(F2 — HODO) — TOF(F2 — tgt) — TOFoffset + 33.22ns  (4)
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